EXERCISES — Polynomials

Name:

1. (@) Where does the parabola : 3. (a) Where does the curve :
y=x>+4x+10 cutthe y-axis? y = (x+1)(2-x)(x+3)(2x-1)
cut the x and y axes?

(b) Using the method of completing

the squares, find its vertex.

(b) Sketch the curve:

(c) What is the minimum value of —t— fF—t—f—+x

this function? .

2. (a) Find the co-efficient of x* in the
expansion of :

¢ =3x=1).(3% - x + 2) . .
4. What is the equation of the curve

below?

(b) Find a,b and c if:-

ax(x+1) + b(x+1)+¢c = 2x° + x— 1

Equation:




5. (a) Show that (x+3) is a factor of : (iii) (2-x)10

x3+x2—9x-—9

7. (a) Expand the binomial (2x+3)5

(b) Find the other factors and fully

factorise the above polynomial. 8. (a) Simplify

(n+ D!
!

g @ (G

o) 1f "C; = an®+bn?+cn
Find a,b and ¢
(c) Solve the equation:

X2+ x°—9x—9=0

8. If x-b and x+2 are both factors of

the polynomial :

X3—5x2+ax+b

6. (a) What is the co-efficient of x° in Find a and b.
the following:
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1. (@) Where does the parabola ;

y = x> +4x +10 cutthe y-axis?
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(b) Using the method of completing
the squares find its vertex.
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(c) -What is the minimum value of

\J this function?
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2. (a) Find the co-efficient of X* in the
expansion of :
(¢ = 3x=1).(3¢ -x+2)
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(b) Find a,b and ¢ if:-
ax(x+1) + b(x+1) +c¢ = 2x° + X — 1
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3. (\a{) Where does the curve :
y = (x+1)(2-x)(x+3)(2x-1)

cut the x and y axes’?
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(b) Sketch the curve:
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4. Whatis the équation of the curve

below?
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Equation: k{x 2\ /‘x-r1>=4# '
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9. (a) Show that (x+3) is a factor of :
x3 + x2 -9x-9
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| (b) Find the other factors and fully

factorise the above polynomial.

(c) Solve the equation:

X2 ex2—ox-9=0"
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7. (a) Expand the binomial (2x+3)°

(a) Simplify
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Find a,b and ¢

6. (a) What s the co-efficient of x° in

the following:
M
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If x-5 and x+2 are both factors of

the polynomial : ‘

X° ~5x% + ax + b = Px)

Find a and b. ' |

P(5) =G s (5 acs) 4

| 2§ - n5 +sa+b =0

P=) =C)3-s(-D a2 +y
= - -20 —2a+b =0

-, satb=o
’ -2a+h=2§
To. = -2K

O b= 20



